

PUBLIC SERVICE BOARD MEETING AGENDA ITEM REGULAR MEETING

Wednesday, June 08, 2022

SUBJECT

Bid 21-22, Trench Safety Equipment

BACKGROUND

This contract is utilized for renting trench safety equipment for use on water, wastewater, and stormwater line excavations.

The previous bid was awarded on September 19, 2019. This bid is 6% higher than the previous bid price.

STRATEGIC OBJECTIVES SUPPORTED

Improve Efficiency

EVALUATION PROCESS

EPWater received three bids from United Rentals (North America), Inc., El Paso Trench Safety, Inc., and Trench Shore Rentals. Staff evaluated the bids and found that the lowest responsive, responsible bidder United Rentals (North America) Inc., met all the requirements within the bid proposal.

FINANCIAL IMPLICATIONS

Sufficient funds are available in various accounts.

PROPOSED ACTION REQUESTED

Consider and award Bid Number 21-22, Trench Safety Equipment, to United Rentals (North America) Inc., the lowest responsive, responsible bidder, in the estimated annual amount of \$223,863.96 for a term of one year with the option for two, one-year extensions provided that funding is available in the approved budget.

SUPPORTING DOCUMENTATION PROVIDED

• Bid tab

PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES

TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT

BID TO BE OPENED: March 8, 2022

BID NUMBER: 21-22

\$ 25.20	\$ 3.00 \$	\$ 22.75	EA \$	\$25.20	10		
\$ 6.30 \$ 63.00	\$ 1.00 \$ 10.00	\$ 6.50 \$ 65.00	EA TOTAL	\$6.30 \$63.00	AL 10	HYDRAULIC CYLINDER 36" - DAILY RENTAL	13
\$ 225.00 \$ 1,125.00	\$ 5.00 \$ 25.00	\$ 285.00 \$ 1,425.00	EA TOTAL	\$275.00 \$1,375.00	۷٦		12
\$ 75.00 \$ 1,500.00	\$ 5.00 \$ 100.00	\$ 95.00 \$ 1,900.00	EA TOTAL	\$115.00 \$2,300.00	20	10' X 12' - DAILY RENTAL	≓
\$ 150.00 \$ 750.00	\$ 5.00 \$ 25.00	\$ 310.00 \$ 1,550.00	EA TOTAL	\$311.66 \$1,558.30	Оſ	10' X 10' - WEEKLY RENTAL	10
\$ 50.00 \$ 1,000.00	\$ 5.00 \$ 100.00	\$ 104.00 \$ 2,080.00	EA TOTAL	\$122.00 \$2,440.00	20	10' X 10' - DAILY RENTAL	9
\$ 300.00 \$ 1,500.00	\$ 200.00 \$ 1,000.00	\$ 372.00 \$ 1,860.00	EA TOTAL	\$375.00 \$1,875.00	ъ	8' X 20' X 4' - WEEKLY RENTAL	80
\$ 100.00 \$ 2,000.00	\$ 5.00 \$ 100.00	\$ 124.00 \$ 2,480.00	EA TOTAL	\$146.00 \$2,920.00	20	8' X 20' X 4' - DAILY RENTAL	7
\$ 225.00 \$ 1,125.00	\$ 175.00 \$ 875.00	\$ 327.00 \$ 1,635.00	EA	\$350.00 \$1,750.00	O I	8' X 16' X 4' - WEEKLY RENTAL	6
\$ 75.00 \$ 1,500.00	\$ 5.00 \$ 100.00	\$ 109.00 \$ 2,180.00	EA TOTAL	\$103.00 \$2,060.00	20	8' X 16' X 4' - DAILY RENTAL	Oi
\$ 150.00 \$ 750.00	\$ 150.00 \$ 750.00	\$ 321.00 \$ 1,605.00	EA : TOTAL	\$472.00 \$2,360.00	ъ	8' X 12' - WEEKLY RENTAL	4
\$ 50.00 \$ 250.00	\$ 25.00 \$ 125.00	\$ 107.00 \$ 535.00	EA :	\$118.00 \$590.00	σı	8' X 12' - DAILY RENTAL	ယ
\$ 150.00 \$ 750.00	\$ 10.00 \$ 50.00	\$ 296.00 \$ 1,480.00	TOTAL :	\$297.00 \$1,485.00	٥٦	8' X 10' - WEEKLY RENTAL	N
\$ 50.00	\$ 5.00 \$ 100.00	\$ 98.00 \$ 1,960.00	EA :	\$99.00 \$1,980.00	20	B' X 10' - DAILY RENTAL	_
			UNIT	PREV. BID 9/19/2019	ОТУ		ITEM
3540 Lee Blvd El Paso, TX 79936	9441 Montana El Paso, TX 79925 3540 Lee Blvd El Paso, TX 79936	8280 Gateway Blvd East El Paso, TX 79907	(torrespondentes				
Trench Shore Rentals	El Paso Trench Safety, Inc	United Rentals (North America)					

Prepared By:

Reviewed By:

BID TO BE OPENED: March 8, 2022 TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES

BID NUMBER: 21-22

\$ 82.00 \$ 410.00	\$ 5.00 \$ 25.00	\$ 80.00 \$ 400.00	EA \$	\$82.00 \$410.00	ហ	ALUMINUM SHORING WITH ACCESSORIES 6' X 6' ALUMINUM HYDRAULIC SHIELD - DAILY RENTAL
\$ 48.00 \$ 480.00	\$ 3.00 \$ 30.00	\$ 25.50 \$ 255.00	EA TOTAL	\$60.00 \$600.00	10	26 HYDRAULIC CYLINDER 168" - WEEKLY RENTAL
\$ 12.00 \$ 240.00	\$ 1.00 \$ 20.00	\$ 8.50 \$ 170.00	EA TOTAL	\$15.00 \$300.00	20	25 HYDRAULIC CYLINDER 168" - DAILY RENTAL
\$ 48.00 \$ 480.00	\$ 3.00	\$ 25.50 \$ 255.00	EA TOTAL	\$48.00 \$480.00	10	24 HYDRAULIC CYLINDER 130" - WEEKLY RENTAL
\$ 12.00 \$ 240.00	\$ 1.00 \$ 20.00	\$ 8.50 \$ 170.00	EA TOTAL	\$12.00 \$240.00	20	23 HYDRAULIC CYLINDER 130" - DAILY RENTAL
\$ 46.00 \$ 460.00	\$ 40.00 \$ 400.00	\$ 25.50 \$ 255.00	EA TOTAL	\$46.00 \$460.00	10	22 HYDRAULIC CYLINDER 112" - WEEKLY RENTAL
\$ 11.50 \$ 575.00	\$ 20.00 \$ 1,000.00	\$ 8.50 \$ 425.00	EA TOTAL	\$11.50 \$575.00	50	21 HYDRAULIC CYLINDER 112" - DAILY RENTAL
\$ 16.00 \$ 800.00	\$ 30.00 \$ 1,500.00	\$ 25.50 \$ 1,275.00	EA TOTAL	\$29.40 \$1,470.00	50	20 HYDRAULIC CYLINDER 88" - WEEKLY RENTAL
\$ 4.00 \$ 800.00	\$ 15.00 \$ 3,000.00	\$ 8.50 \$ 1,700.00	EA TOTAL	\$8.82 \$1,764.00	200	19 HYDRAULIC CYLINDER 88" - DAILY RENTAL
\$ 21.42 \$ 1,071.00	\$ 16.00 \$ 800.00	\$ 18.37 \$ 918.50	EA TOTAL	\$21.42 \$1,071.00	50	18 HYDRAULIC CYLINDER 55" - WEEKLY RENTAL
\$ 5.36 \$ 214.00	\$ 7.00 \$ 280.00	\$ 5.25 \$ 210.00	EA :	\$5.36 \$214.40	40	17 HYDRAULIC CYLINDER 55" - DAILY RENTAL
\$ 16.00 \$ 3,200.00	\$ 25.00 \$ 5,000.00	\$ 18.37 \$ 3,674.00	TOTAL :	\$21.42 \$4,284.00	200	16 HYDRAULIC CYLINDER 46" - WEEKLY RENTAL
\$ 4.00 \$ 800.00	\$ 10.00 \$ 2,000.00	\$ 5.25 \$ 1,050.00	EA :	\$5.36 \$1,072.00	200	15 HYDRAULIC CYLINDER 46" - DAILY RENTAL
\$ 252.00	\$ 30.00	\$ 227.50	TOTAL	9/19/2019 \$252.00	QTY	ITEM DESCRIPTION 14 HYDRAULIC CYLINDER 36" - WEEKLY RENTAL
3540 Lee Blvd El Paso, TX 79936	9441 Montana El Paso, TX 79925 3540 Lee Blvd El Paso, TX 79936	8280 Gateway Blvd East El Paso, TX 79907				
Trench Shore Rentals	El Paso Trench Safety, Inc	United Rentals (North America)				

Prepared By:_____ Reviewed By:

TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES

BID TO BE OPENED: March 8, 2022

BID NUMBER: 21-22

\$ 8.00	\$ 3.00 \$	6.75	EA \$	\$8.00	375	REMOVAL HOOK 48" - WEEKLY RENTAL	40
\$ 2.00 \$ 200.00	\$ 1.00 \$ 100.00	2.25 225.00	EA \$	\$2.00 \$200.00	100	REMOVAL HOOK 48" - DAILY RENTAL	39
\$ 8.00 \$ 1,600.00	\$ 3.00 \$ 600.00	6.75 1,350.00	EA \$	\$8.00 \$1,600.00	200	RELEASE TOOL 48" - WEEKLY RENTAL	38
\$ 2.00 \$ 400.00	\$ 1.00 \$ 200.00	2.25 450.00	EA \$	\$2.00 \$400.00	200	RELEASE TOOL 48" - DAILY RENTAL	37
\$ 40.00 \$ 7,000.00	\$ 40.00 \$ 7,000.00	18.00 3,150.00	EA \$	\$20.00 \$3,500.00	175	BUCKET PUMP - WEEKLY RENTAL	36
\$ 10.00 \$ 2,000.00	\$ 20.00 \$ 4,000.00	6.00 1,200.00	TOTAL \$	\$5.00 \$1,000.00	200	SHORING ACCESSORIES BUCKET PUMP - DAILY RENTAL	35
\$ 492.00 \$ 13,776.00	\$ 200.00 \$ 5,600.00	430.50 12,054.00	EA \$ TOTAL \$	\$492.00 \$13,776.00	28	8' X 12' ALUMINUM HYDRAULIC SHIELD - WEEKLY RENTAL	34
\$ 123.00 \$ 3,444.00	\$ 100.00 \$ 2,800.00	123.00 3,444.00	TOTAL \$	\$123.00 \$3,444.00	28	8' X 12' ALUMINUM HYDRAULIC SHIELD - DAILY RENTAL	33
\$ 396.00 \$ 3,960.00	\$ 200.00 \$ 2,000.00	423.50 4,235.00	EA \$	\$396.00 \$3,960.00	10	8' X 10' ALUMINUM HYDRAULIC SHIELD - WEEKLY RENTAL	32
\$ 99.00 \$ 1,980.00	\$ 100.00 \$ 2,000.00	121.00 2,420.00	EA \$	\$99.00 \$1,980.00	20	8' X 10' ALUMINUM HYDRAULIC SHIELD - DAILY RENTAL	31
\$ 492.00 \$ 2,460.00	\$ 200.00 \$ 1,000.00	343.00 1,715.00	EA \$	\$492.00 \$2,460.00	ຜ	8' X 8' ALUMINUM HYDRAULIC SHIELD - WEEKLY RENTAL	30
\$ 123.00 \$ 615.00	\$ 100.00 \$ 500.00	98.00 490.00	EA \$	\$123.00 \$615.00	υı	8' X 8' ALUMINUM HYDRAULIC SHIELD - DAILY RENTAL	29
\$ 328.00 \$ 1,640.00	\$ 15.00 \$ 75.00	280.00 1,400.00	EA \$	\$328.00 \$1,640.00	ហ	6' X 6' ALUMINUM HYDRAULIC SHIELD - WEEKLY RENTAL	28
			UNIT	9/19/2019	QTY	DESCRIPTION	ITEM
3540 Lee Blvd El Paso, TX 79936	9441 Montana El Paso, TX 79925 3540 Lee Blvd El Paso, TX 79936	8280 Gateway Blvd East El Paso, TX 79907					
Trench Shore Rentals	El Paso Trench Safety, inc	United Rentals (North America)					

Reviewed by:_ Prepared By:

Reviewed By:

PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES BID TO BE OPENED: March 8, 2022 TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT

BID NUMBER: 21-22

	701						
\$ 14.00 \$ 1,400.00	\$ 1.00 \$ 100.00	\$ 11.50 \$ 1,150.00	EA TOTAL	N/A	100	BUILD A BOX 3" X 2' X 8' -DAILY RENTAL	53
\$ 30.00 \$ 150.00	\$ 2.00 \$ 10.00	\$ 29.85 \$ 149.25	EA TOTAL	N/A	O	BUILD A BOX 3" X 2' X 6' -WEEKLY RENTAL	52
\$ 10.00 \$ 1,000.00	\$ 1.00 \$ 100.00	\$ 9.95 \$ 995.00	EA TOTAL	N/A	100	BUILD A BOX 3" X 2' X 6' -DAILY RENTAL	5
\$ 30.00 \$ 150.00	\$ 2.00 \$ 10.00	\$ 34.50 \$ 172.50	EA TOTAL	N/A	OI	BUILD A BOX 3" X 2' X 5' -WEEKLY RENTAL	50
\$ 10.00 \$ 1,000.00	\$ 1.00 \$ 100.00	\$ 11.50 \$ 1,150.00	TOTAL :	N/A	100	BUILD A BOX 3" X 2' X 5' -DAILY RENTAL	49
\$ 40.00 \$ 200.00	\$ 200.00 \$ 1,000.00	\$ 90.00 \$ 450.00	EA TOTAL	N/A	σı	HANGER PLATES -WEEKLY RENTAL	48
\$ 10.00 \$ 1,500.00	\$ 5.00 \$ 750.00	\$ 30.00 \$ 4,500.00	EA :	N/A	150	HANGER PLATES -DAILY RENTAL	47
\$ 16.00 \$ 400.00	\$ 3.00 \$ 75.00	\$ 12.00 \$ 300.00	EA \$	N/A	25	FINN FORM 4' X 6' -WEEKLY RENTAL	46
\$ 4.00 \$ 400.00	\$ 1.00 \$ 100.00	\$ 4.00 \$ 400.00	EA \$	N/A	100	FINN FORM 4' X 6' -DAILY RENTAL	45
\$ 15.00 \$ 1,125.00	\$ 5.00 \$ 375.00	12.00 900.00	EA \$	\$15.00 \$1,125.00	75	FINN FORM 4' X 8' - WEEKLY RENTAL	4
\$ 5.00 \$ 17,000.00	\$ 3.00 \$ 10,200.00	4.00 13,600.00	EA \$	\$2.00 \$6,800.00	3,400	FINN FORM 4' X 8' - DAILY RENTAL	43
\$ 15.00 \$ 20,250.00	\$ 2.00 \$ 2,700.00	11.25 15,187.50	EA \$	\$12.00 \$16,200.00	1,350	FINN FORM 4' X 4' - WEEKLY RENTAL	42
\$ 5.00 \$ 2,920.00	\$ 1.00 \$ 584.00	3.75 3.75 2,190.00	TOTAL \$	\$3.00 \$1,752.00	584	FINN FORM 4' X 4' - DAILY RENTAL	41
\$ 3,000.00	\$ 1,125.00	2,531.25	TOTAL \$	\$3,000.00			
3540 Lee Blvd El Paso, X /9936	9441 Montana El Paso, TX 79925 3540 Lee Blvd El Paso, IX 79936	8280 Gateway Blvd East El Paso, TX 79907	UNIT	PREV. BID 9/19/2019	QTY	DESCRIPTION	ITEM
Trench Shore Rentals	El Paso Trench Safety, Inc	United Rentals (North America)					

Prepared By:

Reviewed By:_ Reviewed By:

Date:_

BID TO BE OPENED: March 8, 2022 TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES

BID NUMBER: 21-22

67	66	65	64	63	62	61	60	59	58	57	56	55	54	TEM		
10' X 4' -DAILY RENTAL	8.5' X 8' -WEEKLY RENTAL	8.5' X 8' -DAILY RENTAL	8.5' X 4' -WEEKLY RENTAL	Round Manhole Shields 8.5' X 4' -DAILY RENTAL	PIPE SPREADER 14' -DAILY RENTAL	PIPE SPREADER 12'-DAILY RENTAL	PIPE SPREADER 10' -DAILY RENTAL	PIPE SPREADER 8'-DAILY RENTAL	BUILD A BOX END MEMBERS 8" -DAILY RENTAL	BUILD A BOX END MEMBERS 6" -DAILY RENTAL	BUILD A BOX 3" X 2' X 10' -WEEKLY RENTAL	BUILD A BOX 3" X 2' X 10' -DAILY RENTAL	BUILD A BOX 3" X 2' X 8' -WEEKLY RENTAL	DESCRIPTION		
5	Oī	OI I	σı	ហ	10	10	10	10	50	50	100	100	σ	PREV. BID QTY 9/19/2019		
NA	N N	N N	N/A A/A	N N	N/A	N N	N N A	N N	N N	N N	N N A	N N A	N N A	19		
ΕA	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	EA TOTAL	TIN		
\$ 42.00	\$ 204.00 \$ 1,020.00	\$ 68.00 \$ 340.00	\$ 133.00 \$ 665.00	\$ 38.00 \$ 190.00	\$ 3.40 \$ 34.00	\$ 3.30	\$ 3.20 \$ 32.00	\$ 3.10	\$ 9.95 \$ 497.50	\$ 9.95 \$ 497.50	\$ 34.50 \$ 3,450.00	\$ 11.50 \$ \$ 1,150.00 \$	\$ 34.50 \$ \$ 172.50 \$		8280 Gateway Blvd East El Paso, TX 79907	United Rentals (North America)
\$ 5.00	\$ 300.00 \$ 1,500.00	\$ 150.00 \$ 750.00	\$ 150.00 \$ 750.00	\$ 75.00 \$ 375.00	NO BID	NO BID	NO BID	NO BID	\$ 2.00 \$ 100.00	\$ 1.00 \$ 50.00	\$ 2.00 \$ 200.00	1.00 100.00	\$ 2.00 \$ 10.00		9441 Montana El Paso, TX 79925	El Paso Trench Safety, Inc
\$ 95.00	\$ 384.30 \$ 1,921.50	\$ 128.10 \$ 640.50	\$ 384.30 \$ 1,921.50	\$ 128.10 \$ 640.50	\$ 20.00 \$ 200.00	\$ 20.00 \$ 200.00	\$ 20.00 \$ 200.00	\$ 20.00 \$ 200.00	\$ 15.50 \$ 775.00	\$ 12.50 \$ 625.00	\$ 48.00 \$ 4,800.00	\$ 16.00 \$ 1,600.00	\$ 42.00 \$ 210.00		9441 Montana El Paso, TX 79925 3540 Lee Blvd El Paso, TX 79936	Trench Shore Rentals

Prepared By:

Reviewed By:

Date: 6/1/22

Reviewed By:

BID TO BE OPENED: March 8, 2022 TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES

BID NUMBER: 21-22

\$ 90.00 \$ 6,300.00	\$ 90.00 \$ \$ 6,300.00 \$	89.00 6,230.00	EA \$	\$90.00 \$6,300.00	70	ROAD PLATES 8' X 10' X 1' - WEEKLY RENTAL	
\$ 39.00 \$ 390.00	\$ 75.00 \$ 750.00	29.66 296.60	EA \$	\$39.00 \$390.00	10	ROAD PLATES 8' X 10' X 1' - DAILY RENTAL	79
\$ 183.60 \$ 12,852.00	\$ 100.00 \$ 7,000.00	140.40 9,828.00	EA \$	\$183.60 \$12,852.00	70	ROAD PLATES 6' X 20' X 1' - WEEKLY RENTAL	78
\$ 45.90 \$ 459.00	\$ 25.00 \$ 250.00	46.80 468.00	EA \$	\$45.90 \$459.00	10	STEEL HOAD & SHORING PLATES ROAD PLATES 6' X 20' X 1' - DAILY RENTAL	77
\$ 20.00 \$ 1,000.00	NO BID	9.57 478.50	EA \$	\$8.00 \$400.00	50	LEGS MANGUARD 24" - WEEKLY RENTAL	76
\$ 5.00 \$ 3,250.00	NOBID	3.19 2,073.50	EA \$	\$2.00 \$1,300.00	650	LEGS MANGUARD 24" - DAILY RENTAL	75
\$ 384.30 \$ 7,686.00	\$ 10.00 \$ 200.00	289.50 5,790.00	EA \$	\$384.30 \$7,686.00	20	MANGUARD 8' X 8' - WEEKLY RENTAL	74
\$ 128.10 \$ 1,281.00	\$ 5.00 \$ 50.00	96.50 965.00	EA \$	\$128.10 \$1,281.00	10	MANGUARD 8' X 8' - DAILY RENTAL	73
\$ 160.00 \$ 800.00	\$ 5.00	90.00 450.00	TOTAL \$	N/A	ហ	3' X 10' -WEEKLY RENTAL	72
\$ 40.00 \$ 200.00	\$ 3.00	30.00 150.00	EA \$	N/A	თ	3' X 10'-DAILY RENTAL	71
\$ 441.00 \$ 2,205.00	\$ 5.00	216.00 1,080.00	EA \$	N/A	ហ	10'X 8'-WEEKLY RENTAL	70
\$ 147.00 \$ 735.00	\$ 5.00 \$ 25.00	72.00 360.00	EA \$	N/A	Сī	10' X 8'-DAILY RENTAL	69
\$ 285.00 \$ 1,425.00	\$ 5.00 \$ 25.00	126.00 630.00	EA \$	N/A	σ	10' X 4' -WEEKLY RENTAL	68
\$ 475.00	\$ 25.00	210.00	TOTAL \$		QTY	DESCRIPTION	ITEM
3540 Lee Blvd El Paso, TX 79936	9441 Montana El Paso, TX 79925 3540 Lee Blvd El Paso, TX 79936	8280 Gateway Blvd East El Paso, TX 79907		PREV. BID			
Trench Shore Rentals	El Paso Trench Safety, Inc	United Rentals (North America)	حا				

Prepared By:_

Reviewed By

Date:_

Reviewed By

TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES

BID TO BE OPENED: March 8, 2022

BID NUMBER: 21-22

\$ 100.00 \$ 500.00	\$ 25.00 \$ 125.00	72.22 361.10	EA \$	\$125.00 \$625.00	ΟΊ	OUTSIDE PIPE LASER HOT - DAILY RENTAL	93
\$ 375.00 \$ 375.00	\$ 1.00 \$ 1.00	89.00 89.00	TOTAL \$	\$100.00 \$100.00	~ 	VENTILATOR 18" - WEEKLY RENTAL	92
\$ 125.00 \$ 125.00	\$ 1.00 1.00	29.66 29.66	EA \$	\$25.00 \$25.00	_	<u>VENTILATOR & ACCESSORIES</u> VENTILATOR 18" - DAILY RENTAL	91
\$ 10.00 \$ 50.00	NO BID	1.00 5.00	EA \$	\$20.00 \$100.00	ហ	120" CABLE - WEEKLY RENTAL	90
\$ 10.00 \$ 50.00	NOBID	1.00 5.00	TOTAL \$	\$5.00 \$25.00	Oī	120" CABLE - DAILY RENTAL	89
\$ 1,500.00 \$ 1,500.00	\$ 0.50 \$ 5.00	204.00 2,040.00	EA \$	\$375.00 \$3,750.00	10	TRI-POD WINCH - WEEKLY RENTAL	88
\$ 50.00 \$ 500.00	\$ 0.25 \$ 2.50	69.00 690.00	EA \$	\$125.00 \$1,250.00	10	TRI-POD WINCH - DAILY RENTAL	87
\$ 1,000.00	NO BID	1.00 10.00	EA \$	\$20.00 \$200.00	10	12V DC CHARGER - WEEKLY RENTAL	86
\$ 25.00 \$ 500.00	NO BID	1.00 20.00	EA \$	\$5.00 \$100.00	20	12V DC CHARGER - DAILY RENTAL	85
\$ 1,500.00	10.00 150.00	187.50 \$ 2,812.50 \$	EA \$	\$300.00 \$4,500.00	15	GAS ALERT MICRO 3/4 GAS MONITOR - WEEKLY RENTAL	84
\$ 25.00 \$ 375.00	5.00 75.00	62.50 \$ 937.50 \$	EA \$	\$100.00 \$1,500.00	15	GAS ALERT MICRO 3/4 GAS MONITOR - DAILY RENTAL	83
\$ 480.00 \$ 33,600.00	100.00 7,000.00	140.40 \$ 9,828.00 \$	EA \$	N/A N/A	70	ROAD PLATES 8' X 20' X 1' -WEEKLY RENTAL	82
\$ 96.00 \$ 960.00	25.00 250.00	46.80 \$ 468.00 \$	EA \$	N/A	10	ROAD PLATES 8' X 20' X 1' -DAILY RENTAL	81
			UNIT THE	9/19/2019	QTY	DESCRIPTION	TEM
3540 Lee Blvd El Paso, TX 79936	9441 Montana El Paso, TX 79925 3540 Lee Blvd El Paso, TX 79936	8280 Gateway Blvd East El Paso, TX 79907					
Trench Shore Rentals	El Paso Trench Safety, Inc	United Rentals (North America)	_				

TABULATION OF BIDS FOR: TRENCH SAFETY EQUIPMENT PUBLIC SERVICE BOARD - EL PASO WATER UTILITIES

BID NUMBER: 21-22

BID TO BE OPENED: March 8, 2022

DISCOUNT 0% PAYMENT TERMS Net 30	BIDDERS TOTAL BIDDERS DISCOUNT	TOTAL BID (ITEMS 1-101) \$ 210,493.70 PRICE WITH DISCOUNT	OWNER'S ALLOWANCE FOR UNANTICIPATED 1 \$20,000.00 ALW \$20,000.00 TOTAL	CANCELLATION CHARGE 5 \$25.00 LS \$125.00 TOTAL	DELIVERY & PICK-UP AFTER HOURS 85 \$200.00 LS \$17,000.00 TOTAL	DELIVERY & PICK-UP HEAVY EQUIPMENT 50 \$150.00 LS \$7,500.00 TOTAL	DELIVERY AND PICK UP CHARGES DELIVERY & PICK-UP SMALL EQUIPMENT 260 \$75.00 LS \$19,500.00 TOTAL	20' HOSE - WEEKLY RENTAL 1 \$300.00 EA \$300.00 TOTAL	ACCESSORIES 1 \$75.00 EA 20' HOSE - DAILY RENTAL 1 \$75.00 TOTAL		EKLY RENTAL 10 \$375.00 \$3,750.00	PREV. BID QTY 9/19/2019 10 \$375.00 \$3,750.00	PREV. BID QTY 9/19/2019 10 \$375.00 \$3,750.00
Resident Bidder	\$ 193,3	\$ 223,8	ALW \$ 20,0 TOTAL \$ 20,0	LS \$ TOTAL \$	TOTAL \$ 15,7	LS \$ 1.	LS \$ 16,9	EA \$	EA \$ TOTAL \$	\$ (>	P	El Paso, T
t Bidder 0% Net 30	193,308.71 \$	223,863.96 \$	20,000.00 \$	15.00 \$ 75.00 \$	185.00 \$ 15,725.00 \$	140.00 \$ 7,000.00 \$	65.00 \$	23.25 \$	7.75 \$ 7.75 \$	2,166.60 \$	-	-	
Resident Bidder 1% Net 30	278,263.50 275,480.87	291,733.50 \$288,816.17	20,000.00 20,000.00	250.00 1,250.00	600.00 51,000.00	550.00 27,500.00	400.00 104,000.00	350.00 350.00	150.00 150.00	75.00 750.00			
dder 1% t 30	97 60 97 69	7 00	\$ \$ \$	6 6	•••	\$9 \$9	₩₩	\$ \$	-	• •			
Resident Bidder 0.00% N/A	301,173.40	361,707.00	20,000.00 20,000.00	400.00 2,000.00	275.00 23,375.00	300.00 15,000.00	350.00 91,000.00	300.00 300.00	100.00	300.00 3,000.00			

Prepared By:_

Reviewed By